Z!JRN® ADJUSTABLE ROOF DRAIN WITH TOP-SET ©
T

DECK PLATE INSTALLATION INSTRUCTIONS

Dome

3/8=16 x 1 1/4 Bolt and Washer (4 Reg'd.)
(Use pipe sealer on threads)

Flashing Clamp

Adjustable Sleeve

0.295 Dia. O—Ring

3/8=16 x 1 3/4 Bolt (4 Req'd.)
3/8 White Teflon Washer (4 Req'd.)
Clamp Ring with O—Ring Groove

Flat Gasket

Body

Deck Plate

3/8-16 x 1/2 Bolt and Washer (4 Reqg'd.)

1. Create a square opening in roof (Q-deck) to receive drain assembly (opening size is 18" x 18”).

2. Fasten drain body to deck plate by aligning the (4) bosses on body and (4) slots on plate using bolts
provided.

3. Put body/plate assembly onto the precut opening in the roof, aligning deck plate attachment slots in
the appropriate position.

4. Fasten the assembly to the roof with self-tapping screws. (provided by others)

5. Place flat gasket on body.

6. Place clamp ring and secure to body with 3/8-16 x 1-3/4 bolts and white teflon washers (tighten firmly
with wrench).

7. Lubricate O-ring with lubricant provided and insert into groove in clamp ring.

8. Lubricate external threads of adjustable sleeve.

9. Thread adjustable sleeve into ring and adjust to required height.

10. Run waterproofing membrane over top of adjustable sleeve to inside of bolt circle.
11. Install flashing clamp and secure with 3/8-16 x 1-1/4" bolts.
12. Attach dome to clamp collar to complete assembly.

Note: Do not stack multiple -EA assemblies

Form # RD41 Date: 1/11/08 C.N. No. 97962 Rev. A

ZURN INDUSTRIES, LLC ¢ SPECIFICATION DRAINAGE OPERATION o 1801 Pittsburgh Ave. ¢ Erie, PA 16514
Phone: 814\455-0921 ¢ Fax: 814\454-7929 ¢ World Wide Web: www.zurn.com
In Canada: ZURN INDUSTRIES LIMITED & 3544 Nashua Drive ¢ Mississauga, Ontario L4V1L2 & Phone: 905\405-8272 Fax: 905\405-1292



